



TABLE OF CONTENTS

2	Protective Apparel			
3	Food Care Bags			
4	Bibs + Towels + Banquet Rolls			
5	Waste Bags + Liners			

Markets Served

Food Care, Environmental Services, Long-Term Care, Funeral Homes, Salons, Tattoo Parlors

Visit **TIDIproducts.com** to see all the single-use disposable products offered by TIDI.

Product Samples

Experience the performance of any TIDI product with a free sample. Call **1.800.521.1314** or visit **TIDI products.com.**

Online Information

Explore our broad range of product areas and learn more about how our solutions can enhance the care experience. Visit **TIDIproducts.com**.

Sustainable Solutions

TIDI Products is focused on reducing resource consumption, minimizing environmental impact and acting in an environmentally responsible manner, in order to provide effective solutions without compromising the well-being of future generations.

Value-Added Packaging

Newly designed packaging provides clear, concise, instant communication. Quickly and simply verify product identity and description for ease in ordering and selecting the right TIDI products for your needs.



Gingham Print Banquet Roll



Adult Bib

PROTECTIVE **APPAREL**



PREMIUM POLY APRONS: SMOOTH SATIN

CODE	COLOR	SIZE	UNIT QUANTITY	DESCRIPTION
10401	White	28" x 46"	1000 (10 boxes of 100)	Individually poly-bagged, ultra-lightweight, 0.8 Mil
10412	White	24" x 42"	1000 (10 boxes of 100)	Individually poly-bagged, ultra-lightweight, 0.8 Mil
10403	White	28" x 46"	500 (5 boxes of 100)	Individually poly-bagged, regular weight, 1.2 Mil

PREMIUM POLY APRONS: TAFFETA EMBOSSED

CODE	COLOR	SIZE	UNIT QUANTITY	DESCRIPTION
10416	White	28" x 46"	500 (5 boxes of 100)	Lightweight, taffeta embossed, 1.0 Mil
10430	Clear	28" x 46"	500 (5 boxes of 100)	Lightweight, taffeta embossed, 1.0 Mil
10418	White	28" x 46"	500 (5 boxes of 100)	Regular weight, taffeta embossed, 1.25 Mil
10419	White	28" x 46"	500 (5 boxes of 100)	Heavyweight, taffeta embossed, 1.75 Mil



SPECIALTY POLY GLOVES

CODE	COLOR	SIZE	UNIT QUANTITY	DESCRIPTION
485	Clear	20-1/4" x 11"	1000 (10 boxes of 100)	Elbow length, smooth, 1.2 Mil

BASIC POLY GLOVES

CODE	COLOR	SIZE	UNIT QUANTITY	DESCRIPTION
10472	Clear	Medium	1000 (10 boxes of 100)	Wrist length, premium, embossed, 1.0 Mil
10473	Clear	Large	1000 (10 boxes of 100)	Wrist length, premium, embossed, 1.0 Mil



BASIC POLY SLEEVES

May contain natural rubber latex

CODE	COLOR	SIZE	UNIT QUANTITY	DESCRIPTION
469	Clear	8-3/4" x 18"	1000 (10 boxes of 100)	Premium, smooth, 1.25 Mil
569	Blue	8-3/4" x 18"	1000 (10 boxes of 100)	Premium, smooth, 1.25 Mil



POLY BOOTS

CODE	COLOR	SIZE	UNIT QUANTITY	DESCRIPTION
490	Clear	One Size	500 (10 boxes of 50)	Attached ties, 3.0 Mil

FOOD CARE BAGS

DOGGIE BAGS

CODE	COLOR	SIZE	UNIT QTY	DESCRIPTION
470	White	14" x 5-3/4" x 1-3/8"	500	Traditional "Doggie" design, smooth, full gussett, 0.6 Mil
475	White	7" x 12"	1000	Dog & Cat design, smooth, 0.6 Mil



HDPE SANDWICH / HAMBURGER BAGS

CODE	COLOR	SIZE	UNIT QUANTITY	DESCRIPTION
280	Clear	6-1/2" x 7"	2000 (10 saddles of 200)	Sandwich / Hamburger bags, 0.6 Mil

HDPE FOOD STORAGE BAGS

- Easy loading bags
- Efficient, convenient, and economical method for food preportioning, refrigerating, and freezing

CODE	COLOR	SIZE	UNIT QTY	DESCRIPTION
291	Clear	10" x 14"	1000	Freezer storage bags with twist ties, 0.6 Mil
293	Clear	18" x 24"	250	Freezer storage bags with twist ties, 0.6 Mil



HDPE BUN PAN BAGS

CODE	COLOR	SIZE	UNIT QTY	DESCRIPTION
273	Clear	27" x 37"	200	Bun pan bags with twist ties, 0.6 Mil
274	Clear	52" x 80"	50	Bun pan bags on a roll, 0.6 Mil



BIBS + TOWELS + BANQUET ROLLS



Kids Kritters print



CHILDREN'S BIBS

CODE	COLOR	SIZE	UNIT QUANTITY	DESCRIPTION
341	White	10-1/2" x 15"	500	Bears & Balloons print, with catch-all pocket, 1.4 Mil
339	White	10-1/2" x 15"	500 (125 ea. of 4 designs)	Kids Kritters print, with catch-all pocket, 1.4 Mil
345	White	10-1/2" x 15"	500	Plain unprinted, with catch-all pocket, 1.4 Mil



ADULT BIBS

CODE	COLOR	SIZE	UNIT QTY	DESCRIPTION	
305	White	15-1/2" x 20"	500	Plain unprinted, 1.4 Mil	
310	White	15-1/2" x 20"	500	Lobster print, 1.4 Mil	
311	White	15-1/2" x 20"	500	Spaghetti print, 1.4 Mil	
313	White	15-1/2" x 20"	500	Crab print, 1.4 Mil	
950443	White	16" x 24"	200	Adult size poly bib with pocket and ties, embossed, 1.4 Mil	
980962	White	16" x 24"	500	Adult size poly bib with pocket and ties, embossed, 1.4 Mil	



KAY-PEES® PROFESSIONAL TOWELS + DISPENSER BOX

• For sensitive skin • Lint-free • Low friction

CODE	COLOR	SIZE	UNIT QUANTITY	DESCRIPTION
911898	White	13-1/2" x 17-1/2"	500 (10 boxes of 50)	4-ply tissue, super soft, highly absorbent, edge-embossed
911900	Blue	13-1/2" x 17-1/2"	500 (10 boxes of 50)	4-ply tissue, super soft, highly absorbent, edge-embossed

KAY-PEES towels in handy individual dispenser boxes for portability and product protection.



POLY BANQUET ROLLS

- Provide the look of traditional linen table covers
- Leak through protection
- Easily trim to desired length

CODE	COLOR	SIZE	UNIT QTY	DESCRIPTION
502	White	40" x 300'	6	Plain unprinted, 0.85 Mil
512	Red Gingham	40" x 300'	6	Classic Red Gingham Print, 0.85 Mil
503*	White	40" x 300'	1	Plain unprinted, "Best Buy", 0.85 Mil

^{*503} is only available in 100 roll per pallet increments.

WASTE BAGS + LINERS

INFECTIOUS WASTE BAGS

• Generously sized, durable waste bags make disposal of infectious waste easier.

CODE	COLOR	SIZE	UNIT QTY	DESCRIPTION
8653	Red	24" x 24" (10 gal)	250	High density, 12 microns, infectious waste (Biohazard) bag
8654	Red	24" x 33" (16 gal)	250	High density, 12 microns, infectious waste (Biohazard) bag
8656	Red	33" x 40" (33 gal)	250	High density, 17 microns, infectious waste (Biohazard) bag
8657	Red	40" x 48" (40 gal)	250	High density, 17 microns, infectious waste (Biohazard) bag



Assure proper disposal with durable, generously sized infectious waste bags.

TRASH CAN LINERS

CODE	COLOR	SIZE	UNIT QUANTITY	DESCRIPTION
950211	Brown	8-3/4" x 7-3/4" x 17"	600 (12 packs of 50)	Waxed can liners, 16-20 quarts
8613	Mint Green	10 gal	500	Trash can liners, heavy-duty poly
8614	Mint Green	16 gal	500	Trash can liners, heavy-duty poly
8625	Mint Green	30 gal	250	Trash can liners, heavy-duty poly
8627	Mint Green	40 gal	200	Trash can liners, heavy-duty poly



TIDI Products, LLC 570 Enterprise Drive Neenah, WI 54956 USA

Customer Service 800.521.1314 +1 920.751.4036 800.837.7770 **FAX**

www.tidiproducts.com





Certified in ISO 9001 and EN/ISO 13485







